7-3 Solving Systems Using Elimination
I can solve systems of linear equations using elimination. 

Vocabulary

Elimination Method: 

	Solve using elimination.  Check your answer.  

x + 2y = 7
3x – 2y = -3


	

	Solve using elimination.  Check your answer.  

2x + y = 3
-2x + y = 1

	

	Solve using elimination.  Check your answer.  

3x + 5y = 10
x – 5y = -10

	


	Solve using elimination.  Check your answer.  

y = x 

y = - x + 2 


	

	Solve using elimination.  Check your answer.  

3x + y = 20
x + y = 12


	

	Solve using elimination.  Check your answer.  

x + 2y = 9
3x + 2y = 7

	

	Solve using elimination.  Check your answer.  

9x – 3y = 24
7x – 3y = 20


	


	Solve using elimination.  Check your answer.  

2x + 7y = -7
5x + 7y = 14


	

	Solve using elimination.  Check your answer.  

8x -2y = 58
6x – 2y = 40


	

	Solve using substitution.  Check your answer.  

2x + 5y = 17
6x – 5y = -9


	

	Solve using elimination.  Check your answer.  

7x + 2y = 10
-7x + y = -16


	


	Solve using elimination.  Check your answer.  

9x + 3y = 2
-9x – y = 0


	

	Solve using elimination.  Check your answer.  

y =  4x - 3
y = 2x + 13

	

	Solve using elimination.  Check your answer.  

3x – 8y = 32
 -x + 8y = -16

	

	Solve using elimination.  Check your answer.  

x + y = 30
x – y = 6

	


1. What math skill did you learn today? 
2. Name three ways you can solve systems of equations? 

3. Which method of solving systems do you prefer? Why?
